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Options :

485584135337. 1
485584135338.2
485584135339.3
485584135340. 4

General Test

Group Number : 13

Group Id : 485584751
Group Maximum Duration : 60

Group Minimum Duration : 60

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 250

Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

General Test

Section Id : 485584869
Section Number : 1
Section type : Online

Mandatory or Optional : Mandatory
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Number of Questions : 60

Number of Questions to be attempted : 50

Section Marks : 250

Enable Mark as Answered Mark for Review and Clear Response :  Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 4855842448
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 521 Question Id : 48558433886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The C.P. of two shirts taken together 15 2910. If by selling one at a profit of 16% and and the other at a loss of
12%. there 1s no loss or gain in the whole transaction, then the C.P. of the two shirts are respectively:

1. 380, 530

2. 370, 540

4.400. 510

Options :

485584135541. 1
485584135542.2
485584135543.3
485584135544. 4

Question Number : 521 Question Id : 48558433886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

& HHISI BT Pd BT 7910 51 TG TH Bl 16% TTH TUT SR DI 12% THI WX [Gepd a1 AT g, 91 59
OR O &7 H AT A1 BT A1 81 A1 BId1 5 | IS BT AT AT B

1..380, 530

2

. 370, 540

390, 520

L8]

4. 400,510

Options :
485584135541. 1



485584135542.2
485584135543. 3
485584135544. 4

Question Number : 522 Question Id : 48558433887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Heera purchased a bag for 4500 and sold it for Z8.200. What 1s the profit percentage? (Correct to two places
of decimal)

1.82.22

| ]

. 73.62
3.45.12
4.52.42

Options :

485584135545. 1
485584135546. 2
485584135547. 3
485584135548. 4

Question Number : 522 Question Id : 48558433887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

U 97 &1 BT 24500 F @f¥er iR 28,200 | o9 a1 @y &1 ufdwd &1 g2 (S¥Hdd & & ™IHl @
el 0T )

1.82.22
2.73.62

45,12

L#H]

4.52.42

Options :

485584135545. 1
485584135546. 2
485584135547.3
485584135548. 4

Question Number : 523 Question Id : 48558433888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

What 15 the value of SIPE _8 1[.‘3 7

1. 6480

1o

3240

L2773

LN

4. 5040

Options :

485584135549.
485584135550.
485584135551.
485584135552.

AW N~

Question Number : 523 Question Id : 48558433888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

81p, _ 81, &I A T I

o
=
(]
s
]

faa
b2
|
=1
L]

4. 5040

Options :

485584135549. 1
485584135550. 2
485584135551. 3
485584135552. 4

Question Number : 524 Question Id : 48558433889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




If"Cq="C;, whatisn ?

Options :

485584135553. 1
485584135554. 2
485584135555.3
485584135556. 4

Question Number : 524 Question Id : 48558433889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

g "Cy ="Cy W n T T2

1.10

Options :

485584135553. 1
485584135554.2
485584135555.3
485584135556. 4

Question Number : 525 Question Id : 48558433890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The Curved Surface Area of a right cireular eylinder of base radius r 15 obtained by multiplying its volume:

—
[ )
-

[ 3]

(5]
(B
-

~ |k

Options :

485584135557 1
485584135558. 2
485584135559. 3
485584135560. 4

Question Number : 525 Question Id : 48558433890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Wmﬁmwwr%$aw%%ﬂwﬁmﬁwimwwmwtr{anuw

b2

Options :

485584135557. 1
485584135558.2
485584135559. 3
485584135560. 4

Question Number : 526 Question Id : 48558433891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match List [ with List IT

LISTI LISTII

| " y

A | Volume of cone I —mh (!’]" e Iy )
= 2 2
b)
| G

B. | Volume of sphere IL —7mrh
3 3

C. | Volume of Frustum IIT. oy h

D. | Volume of cylinder IV %mﬁ

Choose the correct answer from the options given below:
1. A-IV, B-1, C-IIL, D-II
2. AL B-IV, C-I1, D-I

AL B-IIL C-IIL, D-IV

LN

4. A-IL B-IV, C-I, D-III

Options :

485584135561. 1
485584135562. 2
485584135563. 3
485584135564. 4

Question Number : 526 Question Id : 48558433891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




=t 1 61 =1 1 ¥ i ife
T 1 et 1
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o

cmmaramd  |ulypTh
4

D. R &1 3maT IV Em"*

FFafaRad foemedl § O Ug! 3T &1 994 Bifo -

1. A-IV, B-I, C-III, D-II

[ B

CA-IIL B-IV, C-I1, D-1
3. A-I B-II., C-IIL, D-IV
4. A-IL, B-IV, C-1. D-III

Options :

485584135561. 1
485584135562. 2
485584135563. 3
485584135564. 4

Question Number : 527 Question Id : 48558433892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A sum of money triples itself in 3 years at simple interest. In how many years will it become 9 times of itself?

1. 9 years

[

. 10 years

LN

. 12 years
4. 8 years

Options :

485584135565. 1
485584135566. 2
485584135567. 3
485584135568. 4

Question Number : 527 Question Id : 48558433892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

U Hay 3 a6l & E= s76l & A1 GeoE &1 3 7700 81 o1l 8 | fivas a9f § 98 gaes 98 S0 11§l
ST

1.9 Tu
.10 99f
3. 12 98f
4.8 9uf
Options :
485584135565. 1
485584135566, 2

485584135567. 3
485584135568. 4

[ o]

Question Number : 528 Question Id : 48558433893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

At what rate of simple interest, a sum of 21.800 will become 32.700 m 10 years?
1. 10%

2.6%

L)
=
|
h
3=

4. 5%

Options :

485584135569. 1
485584135570. 2
485584135571. 3
485584135572. 4

Question Number : 528 Question Id : 48558433893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




71.800 o5, 29 (10) © 9190 =191 & 159 99X, 22,700 &9 SIU?

1. 10%

| S

6%
3.6.75%
4. 5%

Options :

485584135569. 1
485584135570. 2
485584135571. 3
485584135572 4

Question Number : 529 Question Id : 48558433894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Where does the point P (-5, 0) lies?
1. Third quadrant

. y—axis

]

. X—axis

L]

o

. Fourth quadrant

Options :

485584135573. 1
485584135574.2
485584135575. 3
485584135576. 4

Question Number : 529 Question Id : 48558433894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




féig P (-5, 0) ol SR B2
1. o aguf

2. y—HE
3. x—3E

4. =gt gt

Options :

485584135573. 1
485584135574.2
485584135575.3
485584135576. 4

Question Number : 530 Question Id : 48558433895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

If P, R, T are the areas of parallelogram. a thombus and a triangle standing on the same base and between the
same parallel lines. then which of the following is true?

1LE=P=<T
2.P=R>T
3. R=P=T
4 R=P=2T

Options :

485584135577. 1
485584135578. 2
485584135579. 3
485584135580. 4

Question Number : 530 Question Id : 48558433895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




gid p, R 3R T U U 81 HIYR SR o GHiaR Salsi & T (EUq guiar Iaior. S0, SR B &
g 6. eI Y e a Hd 82

LR<P<T
2.P=R>T
3 R=F=T
4 R=P=2T

Options :

485584135577. 1
485584135578. 2
485584135579. 3
485584135580. 4

Question Number : 531 Question Id : 48558433896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Given cxpr;ess;ion:
(0.682)° —(0.318)
0.682-0.318

1.2

-

| ]

A4

5]
s

4.5

Options :

485584135581. 1
485584135582.2
485584135583. 3
485584135584. 4

Question Number : 531 Question Id : 48558433896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




I TIE el B
(0.682)" —(0.318)"
0.682-0.318

1.2

2.4

4.

Ln

Options :

485584135581. 1
485584135582.2
485584135583. 3
485584135584. 4

Question Number : 532 Question Id : 48558433897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A man goes uphill with an average speed of 24 knv'h and comes down with an average speed of 36 kin'h. The
distance travelled in both cases being the same. The average speed for the entire journey 1s:

1. 30 km'h
2. 288 kin'h
3.32km'h
4. 45 km/h

Options :

485584135585. 1
485584135586. 2
485584135587. 3
485584135588. 4

Question Number : 532 Question Id : 48558433897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




U% ofad UgTe! & 3 TY 319d 24 kn/h I 91T & 31% {6 319d 914 36 k'h I 12 3mar €1 g1 fRufaai
O g @l s g3 SR1ER o | 59 qU1 4 & S{i9d 111d 6:

1.30 kim'h

2

288 km'h

.32 kin'h

LS

445 km/h

Options :

485584135585. 1
485584135586. 2
485584135587. 3
485584135588. 4

Question Number : 533 Question Id : 48558433898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A 300 m long train 1s moving at a speed of 60 knv'h. In what time will it eross a single pole?
1. 25 sec
2. 30 sec

. 18 sec

LN

4, 12 sec

Options :

485584135589. 1
485584135590. 2
485584135591. 3
485584135592. 4

Question Number : 533 Question Id : 48558433898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




U& 300 m TN ¢ 60 kn/h B 916 T 90 51 o | [ 990 § U8 Ud G5 & HIY S0
1. 25 HUg
30 §HUs
3. 18 YhUg
4,12 9PHUs
Options :
485584135589. 1
485584135590. 2

485584135591. 3
485584135592. 4

[ o]

Question Number : 534 Question Id : 48558433899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

In a polyhedron. the number of faces 1s 4 and the number of edges 18 6. then the number of vertices of that
polvhedron 1s:

1.1

22
3.3
4.4

Options :

485584135593. 1
485584135594. 2
485584135595.3
485584135596. 4

Question Number : 534 Question Id : 48558433899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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1.1

| B

2

4.4

Options :

485584135593. 1
485584135594. 2
485584135595. 3
485584135596. 4

Question Number : 535 Question Id : 48558433900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The number 0.423 converted to a fraction. then it is equal to:
1147
300
419
900
419
990
423
100

!d

[F%]

Options :

485584135597. 1
485584135598. 2
485584135599. 3
485584135600. 4

Question Number : 535 Question Id : 48558433900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




T 0.423 B [UF &H $9 H dad- U -
| 1147
300
419

o s
900

3 419
990
4. 423
100

Options :

485584135597. 1
485584135598. 2
485584135599. 3
485584135600. 4

Question Number : 536 Question Id : 48558433901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following 1s called 'Trapezium'?
1. All the sides are equal
2. Two opposite parallel sides are equal

. Two opposite sides are parallel and two opposite sides are non-parallel

Tl

4. A pair of adjacent sides are equal

Options :

485584135601. 1
485584135602 2
485584135603. 3
485584135604. 4

Question Number : 536 Question Id : 48558433901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




fgd 9 oF  9qaE ﬂ_@i\_ﬂ (Trapezium) Pedldl %’.—’
1. Foff Y= eRTeR ©

[ o]

. STHA-ITE B TR Yo RIER gl
3. TTH-HE B YSl-g HHAR 81 Tl 30 (GER) YS-g7 TR 8l
4. 1Y Tell Yoil- 47 SRIER 8l

Options :

485584135601. 1
485584135602. 2
485584135603. 3
485584135604. 4

Question Number : 537 Question Id : 48558433902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

From a well shuffled pack of 52 cards, three cards are drawn one by one. The probability that the three cards
are Jack, Queen and King respectively?

ot

1105
8

16575
27

o

2197

27
305

!_J

Options :

485584135605. 1
485584135606. 2
485584135607. 3
485584135608. 4

Question Number : 537 Question Id : 48558433902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




=5 9 Bdm (Wd) U 52 UFl 8 4. a9 Ul ®1 UH-Us &R (Halal ofidl ¢ | 991 & H: A, I 3R
ST 814 ® WIiiddr a1 82

11
1105

8
16575

L.

Options :

485584135605. 1
485584135606. 2
485584135607. 3
485584135608. 4

Question Number : 538 Question Id : 48558433903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Two unbiased coins are tossed. What is the probability of getting one head and one tail?

b | —

!\_.l

i | =

31
4

4.1

Options :

485584135609. 1
485584135610. 2
485584135611. 3
485584135612. 4

Question Number : 538 Question Id : 48558433903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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e
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4.1

Options :

485584135609. 1
485584135610. 2
485584135611. 3
485584135612. 4

Question Number : 539 Question Id : 48558433904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

If the manufacturer gains 10%. the wholesale dealer gains 15% and the retailer gains 25%. then find the cost
of production of a table, if the retails price of which is T12657

1. 21000
2.2900
3. 2800
4. 2700

Options :

485584135613. 1
485584135614. 2
485584135615. 3
485584135616. 4

Question Number : 539 Question Id : 48558433904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




e IUED Bl 10% Y G 6 | U [dobal bl 15% A1 S el [Gebdll Bl 25% T sldl & | Alg cad
&1 el [9ehT g 71265 6. a1 Sc1a- 5ol (AT ged) &1 82

1. 21000

2.%900

800

LS

4,.3700

Options :

485584135613. 1
485584135614. 2
485584135615. 3
485584135616. 4

Question Number : 540 Question Id : 48558433905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

In what ratio must a shopkeeper mix peas and soyabean of 216 and 225 per kg respectively, so as to obtain a
mixture of 719 per kg?

L2

# Ik

L

3.11;

=1

4.13:8

Options :

485584135617. 1
485584135618. 2
485584135619. 3
485584135620. 4

Question Number : 540 Question Id : 48558433905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584135617. 1
485584135618. 2
485584135619. 3
485584135620. 4

Question Number : 541 Question Id : 48558433906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Find the missing term
1.4, 27,16, 7. 36.343

1: 25

b2
[rs]
-3

(¥
ek
| 5]
=

4. 125

Options :

485584135621. 1
485584135622. 2
485584135623. 3
485584135624. 4

Question Number : 541 Question Id : 48558433906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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1.4,27.16.7, 36, 343

B
oD
|

4. 125

Options :

485584135621. 1
485584135622. 2
485584135623. 3
485584135624. 4

Question Number : 542 Question Id : 48558433907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

From the given statements, what conclusion can be made?

Statements : Some men are wise
All wise are professors

Conclusion I: Some men are professors,
II : All professors are wise

ja—

. Only I follows

[ ]

. Only IT follows

. I and II follows

LS

4. Either I or IT follows

Options :

485584135625. 1
485584135626. 2
485584135627. 3
485584135628. 4

Question Number : 542 Question Id : 48558433907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584135625. 1
485584135626. 2
485584135627. 3
485584135628. 4

Question Number : 543 Question Id : 48558433908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




A piece of paper is folded and a cut is made as shown below. How it will appear when opened?

[
O
&

<0
e O

Lad

XN g
D o
Dy X

Options :

485584135629. 1
485584135630. 2
485584135631. 3
485584135632. 4

Question Number : 543 Question Id : 48558433908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584135629. 1
485584135630. 2
485584135631. 3
485584135632. 4

Question Number : 544 Question Id : 48558433909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Manish goes 8 km in the North from his school. Now, turning to the left, he goes 15 km and again turns to the
left and goes to 8 kin. How far he 18 from his school and in which direction?

1. 15 km, South from school

| )

. 8 kum, North from school
3. 8 kan, West from school

4, 15 km, West from school

Options :

485584135633. 1
485584135634. 2
485584135635. 3
485584135636. 4

Question Number : 544 Question Id : 48558433909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Ay 39 faererd 9 8 km STR H W11 5, Y &5 o= & {8 @ 15 ke U1 A1 8 SR [ W 915 R®
HS® 8 km TIAT ¢ | 3@ 95 304 [qamou & fpai R g iR fpa fg=n g5 2

1. 15 km, fa=eg 4 2fam
. 8 ke, fOEITET ¥ SR
3. 8 km, foerTTT 9 OfgH
4.15 km, f997@a 4 ofgy

| o]

Options :

485584135633. 1
485584135634. 2
485584135635. 3
485584135636. 4

Question Number : 545 Question Id : 48558433910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Among P. Q, R, S. T. each having different weight. R is heavier than only P and S 1¢ lighter than Q and heavier
than T. Who among them is the heaviest?

1P
2.Q
3.8
4T

Options :

485584135637. 1
485584135638. 2
485584135639. 3
485584135640. 4

Question Number : 545 Question Id : 48558433910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

P.Q.R.S. TH U9 &1 YR 3e-3re71 &1 R R p 8 w78 4RI € 3iR 5. @ 9 0o 9yl T I wrel Ykt
gl Fg g ol aeg wae uR 22

1.P

2
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.S
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4T

Options :

485584135637. 1
485584135638. 2
485584135639. 3
485584135640. 4

Question Number : 546 Question Id : 48558433911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




First two words are related in a certain way in:
Transition : Change :: Immobility : ?
Identify the suitable word in place of 7 so that third and fourth words also become relatable the some manner.

1. Stillness

| ]

. Liveliness

. Action

Lad

4. Busyness

Options :

485584135641. 1
485584135642. 2
485584135643. 3
485584135644. 4

Question Number : 546 Question Id : 48558433911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

g &l Teg ford WobR THifEd g SH1 HHR STd &l Wea & THa= g1 & 7d Ugl faded T
fr=gur . geard : Ry

1. (Hgya

2. Sitddr

3. Prdare!

4, ARddl

Options :

485584135641. 1
485584135642. 2
485584135643. 3
485584135644. 4

Question Number : 547 Question Id : 48558433912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Which three of the given can be added to get a rectangular figure?

SO < al =

A B C D E

1. AB.C
2.B.C.E
2 BILE
4 A D.E

Options :

485584135645. 1
485584135646. 2
485584135647. 3
485584135648. 4

Question Number : 547 Question Id : 48558433912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A 3 0.0 3 Sie W HEaeR 31did wied (a1 o 9@l 52

SO <L a| o

A B C D E

1.LA B,.C

b2

B.C.E
3.B,D.E
4 ADE

Options :

485584135645. 1
485584135646. 2
485584135647. 3
485584135648. 4

Question Number : 548 Question Id : 48558433913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value

Comprehension MCQ

January 11, 1997 was a Sunday. What day of the week was on January 7. 20007

1. Sunday

]

. Monday

. Saturday

Tl

4. Tuesday

Options :

485584135649. 1
485584135650. 2
485584135651. 3
485584135652. 4

Question Number : 548 Question Id : 48558433913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

11 SHG¥] 1997 &1 AR AT 7 FHaR1. 2000 Pl TG BT HIF 91 faF U1
1. Uqar
2. giHaR
3. QAR
4. TRdR

Options :

485584135649. 1
485584135650. 2
485584135651. 3
485584135652. 4

Question Number : 549 Question Id : 48558433914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Choose the correct mirror image of the following:

6

[ )
[ ]

5]
(5]

4.4

Options :

485584135653. 1
485584135654. 2
485584135655. 3
485584135656. 4

Question Number : 549 Question Id : 48558433914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




%1 fepfa 1 et adur uidfer g

(38}
[ ]

4.4

Options :

485584135653. 1
485584135654. 2
485584135655. 3
485584135656. 4

Question Number : 550 Question Id : 48558433915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Choose odd one out from the followmg:

1. Copper

]

Iron

CAluminum

Tl

4. Bromine

Options :

485584135657. 1
485584135658. 2
485584135659. 3
485584135660. 4

Question Number : 550 Question Id : 48558433915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value
Comprehension MCQ
9 & 9 fawn &1 97 3
1. dTdI (Copper)

| R

RG] (Iron)

. Q?gﬁ-lﬁmﬂ (Aluminium)
4. §ifeE (Bromine)

L H]

Options :

485584135657. 1
485584135658. 2
485584135659. 3
485584135660. 4

Question Number : 551 Question Id : 48558433916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Study the following sequence and then answer the question given below:
9H7ZA92BCH31XWV5S5T4M60QS8F I

If every fourth letter/number in the above sequence starting from 7 is eliminated. which of the following will
be fifth letter'number to the left of the 12th position from your right?

1.H
2.2
3 A
4.C

Options :

485584135661. 1
485584135662. 2
485584135663. 3
485584135664. 4

Question Number : 551 Question Id : 48558433916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value




|C0mprehension |MCQ
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4.C

Options :

485584135661. 1
485584135662. 2
485584135663. 3
485584135664. 4

Question Number : 552 Question Id : 48558433917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

If you are head of your office, some media people come to your office and request you brief them about the
pension plan of your office, you will:

1. Ask the media people to come some other day
2. Immediately accept the offer and brief them
3. Get them turned out of your office

4. Ak them to wait and to consult the official concerned

Options :

485584135665. 1
485584135666. 2
485584135667. 3
485584135668. 4

Question Number : 552 Question Id : 48558433917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




e &Y Hraied W 5, SR 39S Sriad § $© HIlSa1 & i $U . il SYd Hiiad &1 UgH
OIS 1 HIET STHHR] U 63 5 (da Hd g, dl 319 &1 Sl |

1. Tiifsan il o et o fa o Bl B8

2. 3T UG &I gid WIHR D aul 35 GHATE |
3. 3% U4 Hiad ¥ §Te? (Hara S|
4. I SO9R H & [0 et auT 9afid HfeR! T W il

Options :

485584135665. 1
485584135666. 2
485584135667. 3
485584135668. 4

Question Number : 553 Question Id : 48558433918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In a certain code, COMPUTER 15 coded as ETUPMOCR. How 1s INACTIVE written in the same code?

1. VITCANIE

]

. VICTNAITI

. VICTANIF

Tl

4. VITCANIG

Options :

485584135669. 1
485584135670. 2
485584135671. 3
485584135672. 4

Question Number : 553 Question Id : 48558433918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




U% [I¥d &8 8, COMPUTER @] ETUPMOCR & $9 H &1 [&01 91dl ¢ @ 31 &18 & 38R
INACTIVE {9 UK ferar wmgm|

1. VITCANIE
2. VICTNAII

. VICTANIF

LS

4. VITCANIG

Options :

485584135669. 1
485584135670. 2
485584135671. 3
485584135672. 4

Question Number : 554 Question Id : 48558433919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Select the figure from amongst the four alternatives, which when place in the blank space would complete the
pattern?

X X X
X X X
X X
# #
i
= s
Li# | #|#
#
i
2| # it
H
# #
3
5 #
e
4 #
#
Options :

485584135673. 1
485584135674. 2
485584135675. 3
485584135676. 4

Question Number : 554 Question Id : 48558433919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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# it
LI #|# | #
#
i
2. # #
fi
# #
3.
L #
#
4| | #
#
Options :

485584135673. 1
485584135674. 2
485584135675. 3
485584135676. 4

Question Number : 555 Question Id : 48558433920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Rajni ranked 9th from the top and 38th from the bottom in a class. How many students are there in the class?

1. 46

o]

.47

.45

LN

4.44

Options :

485584135677. 1
485584135678. 2
485584135679. 3
485584135680. 4

Question Number : 555 Question Id : 48558433920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

%@ﬁ&mﬁaﬁﬁﬁ@mﬁéﬁwmﬁw:ﬁ%%s d e IR AT B 1 3! waT J o i faemedf
|

1. 46

2

47
3. 45
4. 44

Options :

485584135677. 1
485584135678. 2
485584135679. 3
485584135680. 4

Question Number : 556 Question Id : 48558433921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The following two numbers are connected by some relationship:
82:9
Identify the suitable pair to which the same relationship 1s applicable.

1:5:26

b
h

T

Lad
L
L
(=]

4.26:5

Options :

485584135681. 1
485584135682. 2
485584135683. 3
485584135684. 4

Question Number : 556 Question Id : 48558433921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
[FrafaRaa 21 ey fad [y Yay & gRI U g9 4 93 6:
82:9

3 ST T B U P ol [ THH JaY A 5 &

1. 5:26

[ B
Lot
LTS}

|

V]
L%
n
h

Options :

485584135681. 1
485584135682. 2
485584135683. 3
485584135684. 4

Question Number : 557 Question Id : 48558433922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




P and Q are married couple. A and B are brothers. A is the brother of P. How is B related to Q7
1. Brother-in-law
2. Cousin

. Son

LN

4, Brother

Options :

485584135685. 1
485584135686. 2
485584135687. 3
485584135688. 4

Question Number : 557 Question Id : 48558433922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

PR QU fafed TeI 28I ASIRBHUE SIA . PHIUE ¢l O B HTQ T T HFY 2
1. 4R

-

Ll

4,41

Options :

485584135685. 1
485584135686. 2
485584135687. 3
485584135688. 4

| ]

LFS]

Question Number : 558 Question Id : 48558433923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Below mentioned question consists of a statement followed by two arguments I and IL.
Statement : Should 'education’ be brought under the control of the Central Government like defence?
Argument I:No. Education 1s a state subject and it should remain with state.

IT : Yes. This is the only way to establish uniformity in a growth of education across the states.

1. Only argument I 1s strong

[ 3]

. Only argument IT 13 strong.

. Either I or IT 18 strong

(¥ X

4. Neither I nor IT is strong

Options :

485584135689. 1
485584135690. 2
485584135691. 3
485584135692. 4

Question Number : 558 Question Id : 48558433923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584135689. 1
485584135690. 2
485584135691. 3
485584135692. 4

Question Number : 559 Question Id : 48558433924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value




|Comprehension IMCQ

Choose the correct option on the basis of the following statements and conclusions.
Statement : Morning walks are good for health.
Conclusion I : All healthy people go for morning walks,

II : Evening walks are harmful.

1. Only conelusion I follow

2]

. Only conclusion II follow

. Both I and II follow

Lad

4, Neither I nor IT follow

Options :

485584135693. 1
485584135694. 2
485584135695. 3
485584135696. 4

Question Number : 559 Question Id : 48558433924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

[FafaRad @y SR (el O 9 Sd lawed &1 9E S|
FYA : UIa: B TR W & [y ariEme sl gl
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Options :

485584135693. 1
485584135694. 2
485584135695. 3
485584135696. 4

Question Number : 560 Question Id : 48558433925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




In which option problem figure 15 ambedded :

Problem Figure :

Answer Figure:

N

Options :

485584135697. 1
485584135698. 2
485584135699. 3
485584135700. 4

Question Number : 560 Question Id : 48558433925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




forg faeg o A= 4 118 oifd [l g8 o
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Options :

485584135697. 1
485584135698. 2
485584135699. 3
485584135700. 4

Question Number : 561 Question Id : 48558433926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Which city does not have Jantar Mantar observatories built by Jai Singh II in the early 18th century?

L. Jaipur

o]

. New Delhi

LN

.Agra
4, Uyjjain

Options :

485584135701. 1
485584135702. 2
485584135703. 3
485584135704. 4

Question Number : 561 Question Id : 48558433926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

g wrer | 150t waTsdt & uRe § oy g n g fAffa Siav-dar dumnen 78 82

1. SR
2. 75 fow
3. BRI
4. 9®H

Options :

485584135701. 1
485584135702. 2
485584135703. 3
485584135704. 4

Question Number : 562 Question Id : 48558433927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Who founded the Pala empire?
1. Dharmpala
2. Gopala

. Jayadeva

LN

4, Senpala

Options :

485584135705. 1
485584135706. 2
485584135707. 3
485584135708. 4

Question Number : 562 Question Id : 48558433927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

OTa oy fda- i foan
1. griard

9T

3.%1g5d

4. 9 91d

[ ]

Options :

485584135705. 1
485584135706. 2
485584135707. 3
485584135708. 4

Question Number : 563 Question Id : 48558433928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Alai Darwaja was built by:

1. Muhammad - bin - Tughlag

o]

. Ala-ud-din Khilj

. Amir Khusro

LN

4, Itilthmish

Options :

485584135709. 1
485584135710. 2
485584135711. 3
485584135712. 4

Question Number : 563 Question Id : 48558433928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

'3feTs gxaren FAfHa foea P gR
. HigTe-fe-gveis
s
. 3HR G
4, SEH]
Options :
485584135709. 1
485584135710. 2

485584135711. 3
485584135712. 4

[—y

| ]

LFS]

Question Number : 564 Question Id : 48558433929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Who found 'Ramakrishna Mission'?

1. Mahatma Gandhi

o]

. B.E. Ambedkar

. Swami Vivelananda

LN

4, Swan Dayanand Saraswati

Options :

485584135713. 1
485584135714. 2
485584135715.3
485584135716. 4

Question Number : 564 Question Id : 48558433929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

G HR S R &8 &1
1. HETe el
LHl. 3R, FSHR
3. Wl fadeprHg
4. W qOHg gXEddl
Options :
485584135713. 1
485584135714. 2

485584135715. 3
485584135716. 4

[ ]

Question Number : 565 Question Id : 48558433930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




One light year is equals to

1.9.46 x 1012 km

o]

112 % 1010 km

.9.00 x 10% km

5]

4.9.42 x 10° km

Options :

485584135717. 1
485584135718. 2
485584135719. 3
485584135720. 4

Question Number : 565 Question Id : 48558433930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
U YT Y sYeX Bl § .

1.9.46 » 1012 km
2.1.12 x 101% km
3.9.00 x 108 km

4.9.42 % 10° km

Options :

485584135717. 1
485584135718. 2
485584135719. 3
485584135720. 4

Question Number : 566 Question Id : 48558433931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




What 1s scientific name of 'Horse'?

1. Felis catus

o]

. Capra hercus

. Eqqus caballus

LN

4, Nija naja

Options :

485584135721. 1
485584135722. 2
485584135723.3
485584135724. 4

Question Number : 566 Question Id : 48558433931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

S T A TH T 82
1. Hfer Peed
byl fedbd

4, AT AT

[ ]

LETN]

Options :

485584135721. 1
485584135722.2
485584135723.3
485584135724. 4

Question Number : 567 Question Id : 48558433932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The change of gaseous state directly to solid state without going through liuid state is called

1. Seildification

o]

. Sublimation

. Deposition

LN

4, Evaporation

Options :

485584135725 1
485584135726. 2
485584135727. 3
485584135728. 4

Question Number : 567 Question Id : 48558433932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

femT TR Ui A o g ver Sl ST g S R A aqu Sl ukpaT I Peds .
1. giicrsifthdm
2. FaHYHA
3. &
4. UAII¥H (@)

Options :

485584135725. 1
485584135726. 2
485584135727.3
485584135728. 4

Question Number : 568 Question Id : 48558433933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Who among the following in Ancient India made some prominent discoveries in Physies?

1. Sushruta

o]

. Charaka

. Kanada

LN

4, Nagarjuna

Options :

485584135729. 1
485584135730. 2
485584135731.3
485584135732. 4

Question Number : 568 Question Id : 48558433933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

frafafad ¥ O fras o vRa § Yifde faug desft uling @ =f 4

1. 9Yd
2. I%

3.9

4, AT

Options :

485584135729. 1
485584135730. 2
485584135731. 3
485584135732 4

Question Number : 569 Question Id : 48558433934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Honourable Prime Minister of India has led the foundation for manufacturing plant of C-295 Aireraft at

1. Gandhi Nagar

| B

. Rajkot

. Surat

LS

4, Vadodara

Options :

485584135733. 1
485584135734.2
485584135735.3
485584135736. 4

Question Number : 569 Question Id : 48558433934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
YR & AR FeEA A T €-205 JTRBIHE & 0 T F G T .
1T R

SR

ARd
4. GSIE

Options :

485584135733. 1
485584135734.2
485584135735.3
485584135736. 4

| ]

LFN]

Question Number : 570 Question Id : 48558433935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




In 2022, National conference on e-governance was held in

1. Mumbai

o]

. Goa

. New Delhi

LN

4, Kolkata

Options :

485584135737. 1
485584135738. 2
485584135739. 3
485584135740. 4

Question Number : 570 Question Id : 48558433935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

T 2022 H SIEHY R APTY TR EEEIRI

1. s
2. Tidl

3. 95 fGad!
4. HidDIdl

Options :

485584135737. 1
485584135738.2
485584135739.3
485584135740. 4

Question Number : 571 Question Id : 48558433936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Naftali Bennett was sworn in as Israel's new Prime Minister on;

1. June 13, 2021

[ B

. May 10, 2021

a

. April 20, 2021
4. February, 2021

Options :

485584135741. 1
485584135742. 2
485584135743.3
485584135744. 4

Question Number : 571 Question Id : 48558433936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
AUl §-¢ DI goRIsd & AU YYHEHI & 39 4 RGNl

1. 9 13, 2021
. H5 10, 2021
3. 31U 20, 2021
4. BRA], 2021

[ ]

Options :

485584135741. 1
485584135742.2
485584135743. 3
485584135744. 4

Question Number : 572 Question Id : 48558433937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Which of the following country become 11" member of ASEAN?

1. Vietnam

| )

. East Timor

Tl

. Philippines
4. Laos

Options :

485584135745. 1
485584135746. 2
485584135747.3
485584135748. 4

Question Number : 572 Question Id : 48558433937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

frafead § 9 SH-91 39 UU9.S 0T (ASEAN) &1 TRET (11 1) I8 a4
1. fgga=mH
2. 5% fauR
3. flpeiidi
4. ATy

Options :

485584135745. 1
485584135746. 2
485584135747.3
485584135748. 4

Question Number : 573 Question Id : 48558433938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Which of the following cities 1s known as the 'Cashew Capital of the World'?
1. Kozhikode
2. Kurnool

. Kumbakonam

LN

4, Kollam

Options :

485584135749. 1
485584135750. 2
485584135751. 3
485584135752. 4

Question Number : 573 Question Id : 48558433938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Fafafad & 9 g SR & oI Ty (HY Hiied e g ae) & 9| o o a8
1. BT

2. Fd
3. PR A
4. Pieayq

Options :

485584135749. 1
485584135750. 2
485584135751. 3
485584135752. 4

Question Number : 574 Question Id : 48558433939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Laterite so1l 1s formed due to intense leaching. Red laterite soil in Kerala 1s more suitable for:

1. Wheat

o]

. Paddy

. Cashew nut

LN

4, Cotton

Options :

485584135753. 1
485584135754.2
485584135755.3
485584135756. 4

Question Number : 574 Question Id : 48558433939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

diewrge gl ot ui dig Alara & SRUEI 6| e | I dexige gl 9l iU g oy
S Bl &

1L

2.4

3. 919
4. BT

Options :

485584135753. 1
485584135754. 2
485584135755. 3
485584135756. 4

Question Number : 575 Question Id : 48558433940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Smallest planet of solar system 157

1. Venus

-2

. Mercury

3. Uranus

FE

. Neptune

Options :

485584135757. 1
485584135758.2
485584135759.3
485584135760. 4

Question Number : 575 Question Id : 48558433940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

IR OUsd & 969 Biel 8 S I e

1.

Options :

485584135757. 1
485584135758. 2
485584135759. 3
485584135760. 4

Question Number : 576 Question Id : 48558433941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The number of seats for Lok Sabha from Hiumachal Pradesh is:

1.4

o]

14

faa
[ ]
S

4.

L

Options :

485584135761. 1
485584135762.2
485584135763. 3
485584135764. 4

Question Number : 576 Question Id : 48558433941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

eOEd Uex ¥ e 991 & 9ol & 9 §--

1.4

E..l..'
b
=S

4.5

Options :

485584135761. 1
485584135762.2
485584135763. 3
485584135764. 4

Question Number : 577 Question Id : 48558433942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Which of the following generates maximum employment in India?
1. Secondary section
2. Primary section

. Railways

LN

4, Tertiary section

Options :

485584135765. 1
485584135766. 2
485584135767. 3
485584135768. 4

Question Number : 577 Question Id : 48558433942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

frafefEaa ¥ 9 o O &7 YRd § 989 YIS I9TR 309 B 67
1. TPt e
2. WY &9

3. {Q-fHT

4. JdITD &

Options :

485584135765. 1
485584135766. 2
485584135767. 3
485584135768. 4

Question Number : 578 Question Id : 48558433943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The book "Mind Master: Winning Lessons from a Champion's Life” is about whom amongst the following?
1. Viswanathan Anand
2. M.S. Dhoni

. Virat Kohli

LN

4, Sachin Tendulkar

Options :

485584135769. 1
485584135770. 2
485584135771. 3
485584135772. 4

Question Number : 578 Question Id : 48558433943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Ra® "HES AReR [ a9 hid T 3dy ase Feifea S d feas aR g &2
L. fasAma amee
2. UH. Tg 4
3. favre ®lec
4. gi¥A dgaax

Options :

485584135769. 1
485584135770. 2
485584135771. 3
485584135772. 4

Question Number : 579 Question Id : 48558433944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The place where ISRO organised 'Human Spacetlight Expo'?

1. Ahmedabad

o]

. Bengaluru

. Thiruvananthpuram

LN

4, Mumbai

Options :

485584135773. 1
485584135774.2
485584135775.3
485584135776. 4

Question Number : 579 Question Id : 48558433944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

a5 /T o161 SIRI 7 BUH TTeTse Tagyr St faar.-
1. SleHalEIg
2. 9IS
3. faed<RA
s 7t

Options :

485584135773. 1
485584135774.2
485584135775.3
485584135776. 4

Question Number : 580 Question Id : 48558433945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Who among the following used the term 'Green Revolution' for inereasing agricultural production in India?
1. Norman Borlaug
2. ML.S. Swaminathan

. Raj Krishna

LN

4. R K.V Rao

Options :

485584135777. 1
485584135778. 2
485584135779. 3
485584135780. 4

Question Number : 580 Question Id : 48558433945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

URd ¥ &Y Idle I g & fau Feieia O 9 fog- gRd il Wsg &1 wan fan
1. AT SRarT
UH. T, WA

S U]
4. 3R, . 91,34

[

Lad

Options :

4855841357717. 1
485584135778. 2
485584135779. 3
485584135780. 4
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